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Replace Figure B.2 with the following one 

System boundary

Electricity
Other energy
Measurement point

KEYIT Energy

1 000 000 kWh

Chilled water

1 600 000 kWh

Electricity purchase

1 100 000 kWh

PUE = EDC / EIT
PUE = (1 100 000 x 1 + 1 600 000 x 0,1)/(1 000 000)
PUE = 1,26

Chilled water 
purchase

1 600 000 kWh

Example conversion factor
= 0,1 (see 5.2)
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100 000 kWh
Electrical 

distribution losses

 

 Replace Figure B.6 with the following one: 

Cooling, air handling, lighting and
controllers

Electricity

Natural gas

PUE = EDC / EIT
PUE = (1 450 000 + 1 000 000)/(1 500 000)
PUE = 1,63

IT Energy

1 500 000 kWh

1 450 000 kWh Electricity
facility

System boundary

Electricity
Other energy
Measurement point

KEY

Cogeneration

1 000 000 kWh

 

Replace Figure B.7 with the following one: 

Cooling, air handling, lighting and
controllers

Electricity

Natural gas PUE = EDC / EIT
PUE = (1 200 000 + 350 000 x 0,2)/(1 000 000)
PUE = 1,27

IT Energy

1 000 000 kWh

1 200 000 kWh

Absorption
chiller

Electricity
facility

System boundary

Electricity
Other energy
Measurement point

KEY

350 000 kWh
Example conversion factor
= 0,2 (see 5.2)
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